Lecture 11 - Script
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8. By lfisalling of Bearfoort Zipny T

We ted workin g h xampl this wee k s padlet. In what fII ows, you find the notes that |
Wﬁ /{: kth explaining t h ngs in the lecture. More details (and a proper structure for everything) can be

f nd as Example 18.7 in hb kagpIk

Note that the group G is a special case of the torus
/ 3 knot groups that appeared on Exercise set 3. So it
= a/ é a = might be helpful to have a look at this again when
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Why are these transversals? The following computations are supposed to give you an idea of that:
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Now, one needs to check what the edges look like (I did not do this in the lecture; it could be a good
exercise for you to do this when going through the example here.)
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("gog" = graph of groups)
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picture of X above.



